Cluster: 0075 ptr; resid: 0.22; r/c: 25/63

=2001

15 Mar 20 20:53:47 iter
cMonkey Version 4.9.11 ptr

L TNSST

<~ X

& /<

A

M |

{"3 °\§;
L‘"‘\’ )

s

aaNgl

—

X

N
==

o
B

N

<3
—

I
20

upstream meme PSSM #1; e=12

P —D>

Xllhe
7 9 1

upstream meme PSSM #2; e=8.2e+03

;Cc

9 11 13

47@86

35961 21682
019
14861 43870 136624
D689 43859

49210 47845

48602

40209

49436
48019

47067

40070
49449

47290

47280 43865 4708

- string

log10(P) upstream meme

I
80

I
100

I
120

I
140

log10(P.clust)=-1.98; 25 seqs; 25 uniq
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